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Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 Answer the following questions. (Attempt any three) 30)
Explain different means of Finance.

Explain various measures of Liquidity.
What is Merger? Explain different types of Mergers.

What is Investment Banking? What services are offered in Investment Banking?
What is loan Syndication? What are its types? Explain documentation for a Syndicated
loan.

M .

Q.2 Answer the following. (Attempt any three) 30)
State and explain the steps involved in Project Appraisal.

What is Factoring and forfeiting? Explain the difference between them.

SWOT Analysis explain

Banker's Guarantee explain

M

Advantages and disadvantages of Import and export bills for collection

Write short notes. (Attempt any four) (20)
CDR system
ECS

Credit Card
Shares
Debenture

o o

Investments

Q.4 A Answer in One Sentence (Attempt Any Five) (10)
Full form of RTGS

Full form of NEFT

What do you mean by current Account

Full form of ATM

MICR cheque means

What do you mean by Net Banking

e o S R

Cross Cheque means
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10.

11.

12.

Select the Correct Alternatives (Attempt Any Ten)
In SWOT analysis W stands for-----.

a) Weakness c) Wise

b) Wide d) Width

Customer cheques are ------ at par at all branches of the banks across India
a) Payable ¢) Made

b) Taken d) Discounted

NEFT is a ------- wide payment system.

a) Nation c¢) State

b) International d) District

Debtors or Receivables Management services has grown to become a vital of
any organizations management.

a) Credit, Debit c) Payable, Across

b) Components, Liquidity d) maintains, follows

In SWOT analysis T stands for-----.

a) Threats c) Time

b) Treats d) Technology

Current ratio is the ratio between assets and long term liabilities
a) Current ¢) Movable

b) Fixed d) Tangible

There are ---- types of ECS.

a) One c) Three

b) Two d) Four

Corporate banking is also known as....... , where banks extend various fund-based, non-
fund based facilities and ancillary services to large corporate houses.

a) Central Banking ¢) Commercial Banking

b) Wholesale Banking d) Industrial Banking

ECS means ------ .

a) Electronic clearing system c¢) Electronic cheque services
b) Electronic cash services d) Electronic credit services

In SWOT analysis O stands for-----.

a) Opportunities ¢) Optimistic

b) Operations d) None of these

......... is a network model that allows randomness in activity completion times.
a) CPM c) CRM

b) PERT d) None of the above

"RTGS" stand for Real Global Settlement

a) Threats c) Time

b) Treats d) technology

(10)

Corporate Banking (MCB-311)AKM - 1

2/2



